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Here are some patterns made from matchsticks.

Pattern number 1 Pattern number 2 Pattern number 3

(a) Draw Pattern number 4, in the space below.

The graph shows the number of matchsticks m in pattern number n.

(b) Mark the point which shows the number of matchsticks used in Pattern number 4.
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(¢) How many matchsticks are used in Pattern number 10?
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Here are some patterns made from sticks.
Pattern number 1 Pattern number 2 Pattern number 3

(a) Complete Pattern number 4.

(b) Complete the table.
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Here are some patterns made out of squares.

Pattern Pattern Pattern Pattern
number 1 number 2 number 3 number 4

(a) On the grid draw Pattern number 5.

(b) Complete the table for Pattern number 5 and Pattern number 6.

Pattern number 1 2 3 4 5 6

Number of squares 2 4 6 8

(c)  How many Squares in Patbern mumber 20 °?
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